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(b)  Sketch the graph of  on the graph at left.
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Moderate NON CALCULATOR:
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Let f(x)=4x-2 and g(x)=-2x>+8.
(a) Find f7(x). [3 marks]

(b) Find (fog)(Q). [3 marks]
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Let f(x)=x"—4 and g(x)=2x.
(2) Find (g2 /)(-2).
(b) Find /7 (¥).
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Let f(x):§and g(x):xz.
x

(a) Find /7' (x).
(b) (i) Writedown (/' og)(x).

(ii)  Solve the equation (™' og) (x)=x.
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The diagram below shows the graph of a function f(x).for -2<x<3.
by
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(a)  Sketch the graph of f(—x) on the grid below. [2 marks]
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(b) The graph of f is transformed to obtain the graph of g. The graph of g is
shown below.

The function g can be written in the form g(x)=af (x+5b). Write down the
value of @ and of b. [4 marks]
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Let f(x)=log,(x+3) for x>-3. Part of the graph of f is shown below.

//Aﬁi//

v

The graph passes through A (6, 2). has an x-intercept at (=2, 0) and has an asymptote
at x=-3.

(a) Find p. [4 marks]
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The graph of f is reflected in the line y =x to give the graph of g.

(b) (1) Write down the y-intercept of the graph of g.

(i)  Sketch the graph of g. noting clearly any asymptotes and the image of A. [5 marks]

(c) Find g(x). [4 marks]
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Let f(x)=+x-5.for x=5.

(a) Find f7(2). [3 marks]

(b) Let g be a function such that g™ exists for all real numbers. Given that

2(30)=3.find (fog™)(3). [3 marks]
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Let f(x)=e"".
(a) (i) Show that f™(x)=lnx-3.

(i)  Write down the domain of £~ [3 marks]

(b)  Solve the equation f~'(x) = hl(l ] [4 marks]
X
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Let f(x)=log,x . for x>0.

(a) Show that f'(x)=3%. [2 marks]
(b)  Write down the range of f~. [1 mark]
Let g(x)=log,x.for x>0.

(c)  Find the value of (f™ o g)(2). giving your answer as an integer. [4 marks]
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Consider the functions f and g where f(x)=3x-5 and g(x)=x-2.
(a) Find the inverse function, f -
(b) Given that g(x)=x+2, find (g™ o £)(x).

(c) Given also that (/™o g)(x)= x+3

Let h(x)zm, x#2.
g(x

(d) (1) Sketch the graph of /# for —-3<x<7 and -2<y<8. including

any asymptotes.

(i)  Write down the equations of the asymptotes.

Lsolve (fog)(x)=(g7 e /)(x).

[3 marks]

[2 marks]

[2 marks]

[5 marks]
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The following diagram shows the graph of a function /.

(a) Find f7(-1) 2
() Find (fof)(-1) &)

(¢)  On the same diagram, sketch the graph of y=1(-x). 2
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The following diagram shows the graph of y = f(x), for 4<x<5.
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()
(c)

‘Write down the value of

@ f3):
@ .
Find the domain of 7.

On the grid above, sketch the graph of /™.

2]
2]
2]
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The diagram below shows the graph of a function f, for -1<x<2.

(a) Write down the value of
@O f@:

i) £ [3 marks]
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(a) Write down the value of
O f@:

@ .




image6.png
Let f(x)=7-2x and g(x)=x+3.
(a) Find (gof)(x). [2 marks]
(b)  Write down g™'(x). [1 mark]

(¢) Find (fog™)(5). [2 marks]




